
8

<br>

9.

<br>

10.

<br>

7.

<br>

6.

<br>

4

<br>

3.

<br>

2

<br>

yrtLS0609g.

<br>

Name of the candidate (in capital letters),

<br>

Candidates" Singnature

<br>

1

<br>

TT7HA TOVDPTH|

<br>

GONTSHIRUpo

<br>

READ THE FOLLOWING INSTRUCTIONS CAREFUUs

<br>

FEFORE WRJTING ANYTHING ON THIS EOOKL

<br>

Paner-4 contalns 100 objecthve questdons. Before corrnenrg

<br>

answer, check that the question booklet has all the 1 00 chl

<br>

guestions. Further check that you have been distributed conTert

<br>

booklet 1! there is any shortCOming intimiate the satne to omr

<br>

room invigilator and get it corrected. No complaint in this retard

<br>

shal be entertained at later stage.

<br>

This is an objectve type test n whlch each objective question e

<br>

followed by four options (A) to (D). Your task is to choose the

<br>

correct/best option and mark your response

<br>

the OMR Answer

<br>

Sheet only as per the Instructions given.

<br>

Use Blue / Black Ball Point Pen for filing boxes on the 0MD

<br>

Answer Sheet. The ovals on the OMR Answer Sheet are to be

<br>

completely filled by Blue / Black Ball Point Pen.

<br>

DO NOT scríbble, do not rough work or do not make ay stray

<br>

marks on the Answer Sheet DO NOT Wrnkle or fold or staple the

<br>

OMR sheet.

<br>

Use of Calculators, Slide rules, Mobiles, calculator watches or

<br>

such devices and /any other study / relerence material is NOT

<br>

allowed tnside the examínation hall. Do not brlng these ardcdes to

<br>

the examination hall.

<br>

Rough Work can be done In the blank space provided In the

<br>

Question Booklet, not on the OMR Answer Sheet. No other paper

<br>

willbe allowed/provided for rough work

<br>

Return the original OMR Answer Sheet to the Invigilator on

<br>

completion of the Test Do not take this Question Booklet or any

<br>

part thereof or OMR Answer Sheet outside the Examination Hall

<br>

during the course of the examination. Doing so Is a punishable

<br>

offence.

<br>

Take care that you mark only one answer for each question. If more

<br>

than one answer is given by you for any question, the same will not

<br>

be evaluated. Cutting/overwriting the answers is not allowed.

<br>

Further, question paper is in Hindi, English and local language. In

<br>

case of any variation in translated HindI& local languageversion,

<br>

English version will be taken as final for evaluation purposes.

<br>

HOW TO ANSWER THE QUESTION;

<br>

2.

<br>

The question booklet will be in four series (A, B, C and D). You7:

<br>

must write correct question booklet series on your OMR sheet The

<br>

candidate will be solely responsible to quote the correct question

<br>

booklet series on the OMR sheet without which OMR sheet will not

<br>

be evaluated under any circumstances.

<br>

Please follow instructions given on the OMR Answer Sheet

<br>

3.

<br>

4.

<br>

6.

<br>

8

<br>

9.

<br>

10.

<br>

OMR 3Tt

<br>

taalNo ofabettve ()enaitH

<br>

Question

<br>

Boolelet Serles

<br>

Invigilators' Signature

<br>

B

<br>



6

<br>

4

<br>

Which chatbot assists
users during booking| 1

<br>

in the Dak Sewa app?

<br>

A. Megha

<br>

B. Personal Assistant

<br>

C. Post Bot

<br>

D. Mail Mitra

<br>

The new service under Booking Solution 2

<br>

available for unregistered items 1s/

<br>

A. Delivery confirmation service

<br>

B. Proofof Delivey Service

<br>

C. Premium Delivery Service

<br>

D. Unregistered Track Service

<br>

In the term NSp" (as in NSP 1, NSP 2) |3

<br>

under the NI(Network Integrator) category,

<br>

what does S' stand for?

<br>

A. System

<br>

B. Software

<br>

C. Service

<br>

D. Solution

<br>

The term Blue Field Project" in IT 2.0 4

<br>

implies a combination ofwhich two types of

<br>

project approaches?

<br>

A. Old and New

<br>

B. Existing and Future

<br>

C. Green Field and BrownField

<br>

D. Simple and Complex

<br>

The

<br>

phase where software is tested in the

<br>

real world by the intended audience or

<br>

businesS representatives
is knownas:

<br>

A. System integration testing

<br>

B. Unittesting

<br>

PART-AlAOT-
À

<br>

C. User Acceptance
testing

<br>

D. Performance
testing

<br>

TNF" in Network Integration
under IT6

<br>

Modernization
Project2012refersto:

<br>

A. Technically Now Feasible

<br>

B. TechnicallyNotFeasible

<br>

C. TechnicallyNotFunctional

<br>

D. Terminal Not Feasible

<br>

A.AT

<br>

B.THg3fte

<br>

D.3rdstipatŽAI

<br>

B.iQUR

<br>

D.HHUT

<br>
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8

<br>

9

<br>

10

<br>

11

<br>

Vhat is thc rato of discount on specd

<br>

booking for walk in customers
who bring

<br>

daily revenuc of Rs 75,000/-2

<br>

A. 2%

<br>

B, 5%

<br>

C. 10%

<br>

D. 15%

<br>

Who prcpares the monthly BNPL bill for

<br>

cvery Calcndar Month?

<br>

A. Superintendent of Post offices

<br>

B. Ofice of Posting

<br>

C. Ilead Post office

<br>

D.Offico of Delivery

<br>

Maximum weight limit of () Domestic9

<br>

Specd Post articlo (ii) International Spoed

<br>

Post articlo is:

<br>

A. (i) 20 Kg (ii) 20 Kg

<br>

B. () 30 Kg (ii) 30 Kg

<br>

C.() 35 Kg (i) 35 Kg

<br>

post

<br>

D. () 20Kg (ii)35 Kg

<br>

What is the compensation for, delay in 10

<br>

delivery of International Spced Post article?

<br>

A. 2% of the Postage charges for the delay

<br>

of more than S days (Excluding Holidays)

<br>

from the publishcd norms

<br>

B. Specd Post charges will be paid

<br>

C. Doublc the Specd Post charges or Rs.

<br>

1000 whichever is loss

<br>

D. S% of tho postago charges for the delay

<br>

of moro than S days (Bxcluding Holidays)

<br>

from the published norms

<br>

Which' of thc following statcnents aro

<br>

incorrect w.r.t. mcaning of 'Locnl' in Local

<br>

Delivery under Servico Standards for

<br>

Delivery of Specd Post:

<br>

A. Articles booked and to bo delivercd

<br>

within identified PIN codes-for Mctro Citics

<br>

B. Articles booked and to be delivercd

<br>

within Municipality limit-for citics other

<br>

than Mctro cities

<br>

11

<br>

A. 2%

<br>

B. 5%

<br>

C. 10%

<br>

D. 15%

<br>

A. BIFJFlerqs

<br>

B. RTpTaferg

<br>

D.faaruDrAfer

<br>

A. (0) 20fut () 20 fyT

<br>

B. ) 30 aT (1) 30 fyt

<br>

C.(0) 35 fat () 35 fbuT

<br>

D. (0) 20 fbAI () 35 aat

<br>
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12

<br>

13

<br>

14

<br>

15

<br>

16

<br>

17

<br>

the samc PIN code delivery
jurisdiction-for

<br>

C.Articles booked andto be
delivered within

<br>

Small Towns
(Kasbas) or

Mufussil arcas

<br>

having no defined town delivery area

<br>

D. Nonc of the above

<br>

Which of the following types
of literature is

<br>

not allowed under Gyan Postr

<br>

A. Books on religious topics

<br>

B. monthly published newsletters

<br>

C. competitive cxam preparationbooks

<br>

D. Textbooks by universities

<br>

Under RPLI non-medical scheme the age at

<br>

entry ofproponent should not exceed

<br>

A. 35 years

<br>

B. 40 years

<br>

C. 45 years

<br>

D. No limit

<br>

A. Letters and postcards

<br>

From the following, what type of items are 14

<br>

typically sent using Magazine Post?

<br>

B. Periodicals and newspapers

<br>

C. Parcels andpackages

<br>

D. Money orders and financial instrTuments

<br>

A. 11

<br>

A speed post bar code has how many 15

<br>

characters?

<br>

B.9

<br>

C. 12

<br>

D. 13

<br>

A. Rs.50+ GST

<br>

What is the fee for transfer of Monthly 16

<br>

Income Scheme Account from one post

<br>

office to another post office?

<br>

B. Rs.100 + GST

<br>

C. Rs.200+ GST

<br>

D. Rs.500 + GST

<br>

12

<br>

A. Order book

<br>

13

<br>

This record serves as a record of he clerks 17

<br>

actually at work on any given day

<br>

B. Nominal Roll

<br>

C. Memo ofDistribution

<br>

D. Postmaster Order book

<br>

D. fagftereGRI YIGUgkI

<br>

A. 35 qf

<br>

B. 40q

<br>

C.45 a

<br>

A. 11

<br>

B.9

<br>

C. 12

<br>

D. 13

<br>

A. 50 F4 + GH

<br>

B. 100 F + syt

<br>

C. 200 F4 + siH

<br>

D. 500F4 + lH

<br>

c. faiFI4T

<br>
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18

<br>

19

<br>

20

<br>

21

<br>

22

<br>

23

<br>

Thepreservation
periodfor Nominal

Rollis:18

<br>

A.Oneyear

<br>

B.Threeyears

<br>

C.Tenyears

<br>

D.Permanent

<br>

In Sub Offices,
where do the postman

<br>

acknowledge
receipt of the money

made

<br>

overtohimfor remittance
into Bank?

<br>

A,On the SO AcCount

<br>

B. On the reverse
ofthe counterfoils

ofBank

<br>

vouchers

<br>

C. On the obverse of the counterfoils
of

<br>

Bankvouchers

<br>

D. On the SO Daily Account

<br>

What should be done if an SSA account is 20

<br>

opened

<br>

grandparents

<br>

guardian)?

<br>

by

<br>

A. Close account immediately

<br>

B. Transfer guardianship to natura/ legal

<br>

guardian

<br>

C. Freeze account

<br>

D. Charge penalty

<br>

What is the new threshold for

<br>

deduction under Section 194H as

<br>

Finance Act 2025?

<br>

A. Rs. 10,000

<br>

B. Rs. 15,000

<br>

C. Rs. 20,000

<br>

D. Rs. 5,000

<br>

A. Postmaster General

<br>

Who is the competent Authority to permit |22

<br>

officials of the Mail Office to enter the mail

<br>

van of a section to help in loading or

<br>

unloading mails, where considered

<br>

necessary?

<br>

B. Superintendent of RMS

<br>

C. Record Officer

<br>

D. Head Sorting Assistant

<br>

(non-legal

<br>

A. Toprepare error report

<br>

The form M42 for Transit Sections and M- 23

<br>

43 for Mail Offices is used

<br>

B. To prepare mail abstract

<br>

TDS21

<br>

per

<br>

C. To prepare report of missent bags

<br>

D, To prepare metal token stock

<br>

B. f qf

<br>

D. RTf

<br>

B. HGdi Hipfda/O1Tt faE

<br>

fa sfafH 2025 HR RI 194H

<br>

A. 10,000 F

<br>

B. 15,000 Fy

<br>

C. 20,000 Fqt

<br>

D. 5,000 Fyy

<br>

B. 3TRQHYH 3reîca

<br>

C. afea afacor

<br>

D. HTGcr HEIYF

<br>
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24

<br>

25

<br>

26

<br>

27

<br>

28

<br>

29

<br>

The Head Sorting
Assistant/Mail Guard of a 24

<br>

set or a section or a Mail Office, which

<br>

exempted from Record Office attendance,

<br>

should send the work
papers of the set to the

<br>

Rccord Office in

<br>

A. a closed bag, duly invoiced in the mail

<br>

list

<br>

B. a blue bag only, dulyinvoiced inthe mail

<br>

list

<br>

C. an iron or wooden box

<br>

D. on monthly basis

<br>

The delivery of an article in the country of 25

<br>

destination:

<br>

A. Varies from country to country

<br>

B.Uniform all over

<br>

C. As desired by the sender

<br>

D. None of the above

<br>

A. No action required

<br>

How to treat articles addressed in Indian261GR fu 4RÁ 8T faa

<br>

Language intended for despatch abroad?

<br>

B. Returned to sender for transcription

<br>

C. Transcription in French should be added

<br>

D. Transcription in English should be added

<br>

A. North East

<br>

Under which postal circle does Sikkim falls?| 27G foH SIE URST 3jcrfa GI

<br>

B. Assam

<br>

C. West Bengal

<br>

D. Bihar

<br>

Who will fix the working hours of Night 28

<br>

Post Offices?

<br>

A. Divisional Head

<br>

B. Regional Head

<br>

C. Head of the Circle

<br>

D. Regional Director

<br>

D, AI 31URR

<br>

Which of the following serv:ice is not 29

<br>

available in a Mobile Post Office?

<br>

D. GqlGT oÉTEI

<br>

A. Sale of stamp and stationery

<br>

B. Booking of registered articles

<br>

C. Accepting unregistered article

<br>

D. Collection of PLI premium

<br>

B. 3H4

<br>

D. fGER

<br>

Page 5 of B

<br>



30

<br>

31

<br>

32

<br>

33

<br>

34

<br>

What
is the purpose

of notifying
business

30

<br>

hoursatPostOffices
andRMSOffices?

<br>

A. To infom
the public

about upcoming

<br>

holidays

<br>

B.Toindicate
whenthePostOfficecounters

<br>

close

<br>

C. To indicate
the hours during

which

<br>

business
istransacted

and thetimesatwhich

<br>

mailsaredelivered
anddispatched

<br>

D. Tòannounce
specialpromotions

<br>

Who authorizes
certain

<br>

realize the postage
charges in cash from

<br>

fims or other persons
who post avery large

<br>

numberofunregistered
packets?

<br>

A. Secretary Posts

<br>

B.DG Posts

<br>

C. ADG Posts

<br>

D.Head of the Circle

<br>

Government?

<br>

What is the consequence
of using a stamp

<br>

that has already been used for postage, with

<br>

intent to cause loss

<br>

to the Central

<br>

A. Fine

<br>

B. Offence under the Indian Penal Code

<br>

C. Warning

<br>

D. None of these

<br>

A. At least one

<br>

B. At least four

<br>

C. At least two

<br>

How many date stamps are required on 33

<br>

every letter, packet or parcel according to

<br>

the general rules as to Posting?

<br>

D. At least three

<br>

post offices

<br>

A. Bank Notes

<br>

B. Defaced notes

<br>

to

<br>

C. Foreign currency notes

<br>

Which type of notesare NOT included in the 34

<br>

expression "Curency Notes" in accordance

<br>

to the rules laid down for the posting of

<br>

coins?

<br>

D. Old notes

<br>

31

<br>

32

<br>

B. SI#HEIfRIGE

<br>

C. 3faftG SIF HEIÍRIG

<br>

D.yfHSct4 wyd

<br>

A. gufT

<br>

C. argt

<br>

A. OHhH Lo

<br>

B. H HH R

<br>

D. 4 H

ÂH

<br>

B. fapa te

<br>

D. yut tz

<br>
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3S

<br>

36

<br>

37

<br>

38

<br>

39

<br>

How muclh redirection fce will be charged 35

<br>

on inland parcels addressed to troops, when

<br>

such parcels redirectedI withinIudia?

<br>

A. Frec

<br>

B, Half

<br>

C. Double

<br>

D. As per distancc and weight

<br>

Who has the right to prescribc a lowcr limit 36

<br>

of weight for book packets for and from any

<br>

particular post office or offices?

<br>

A. Director-General

<br>

B.CPMG

<br>

C. Director

<br>

D.SSPOs/ SPOs

<br>

for the exchange of postal articles?

<br>

A. India and Pakistan

<br>

Under special arrangements, which counnes37RY JGRT o Ea,foaui SIFqt

<br>

have more favorable conditions laid down

<br>

B. Afghanistan and Iran

<br>

C. Bhutan, Bangladesh, and Nepal

<br>

D. China and Japan

<br>

Delivery form be filled for registered

<br>

articles?

<br>

A. Roman characters

<br>

As mentioned in Post office Guide - II in38I f SIHU ISS-| seetg fy

<br>

what language should the Advice of

<br>

B. Arabic script

<br>

C.Chinese characters

<br>

D. Devanagari script

<br>

Convention?

<br>

A. Loss of Registered Articles

<br>

A. Ajec

<br>

B. Delay in delivery

<br>

B. 3TT

<br>

C. Damage to packages

<br>

A. HEifGNICF

<br>

B. fgi

<br>

What is the primary liability of the Post39fa pdA 4HR SIHYT OI

<br>

Office according to the Universal Postal

<br>

D. Incorrect address handling

<br>

A RI47 3R

<br>

D. Ž4Tt fift

<br>

B.fseiat

<br>
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41

<br>

42

<br>

43

<br>

What is thepurpose
of sending an advice of 40 fal

<br>

non-delivery
incase ofa foreignparcel?

<br>

A. To enable the recipient to give fresh

<br>

instructions
regardingtheparcel

<br>

B. To inform the sender about the non

<br>

delivery

<br>

C.To requestadditionalcharges for delivery

<br>

D.To expeditethedeliveryprocess

<br>

As per the Prohibitions and Restrictions"41

<br>

described in the Post office guide part - II

<br>

which type of articles should not contain

<br>

communications addressed to persons other

<br>

than the addressee or persons living with

<br>

him?

<br>

A. Letters

<br>

B. Printed papers

<br>

C. Small packets

<br>

D. Parcels

<br>

correspondence:

<br>

Mark the correct option in relation tol 42 Agt uz. tsuRcs YAR H HHET

<br>

FOREIGN

<br>

POST

<br>

A. Surface mail items received from any

<br>

country for delivery in India may be

<br>

redirected to any place within India.

<br>

B. First class mail surcharge or un

<br>

surcharged are eligible for free redirection

<br>

by air within India.

<br>

C. Surface mail received for delivery in

<br>

India from any country not applying reduced

<br>

charges for India may be redirected to

<br>

another country by the surface mail without

<br>

any charge for the redirection.

<br>

D. AIlof the above are corect.

<br>

redirected

<br>

The "Printed Paper" service in the foreign43

<br>

..." Service

<br>

post corresponds to the

<br>

in the inland post with some variations in the

<br>

conditions.

<br>

A. Patterm and sample packet

<br>

B.Registered News paper

<br>

C. Book packet service

<br>

D. None of these

<br>

A, 4A

<br>

D. YT

<br>

B. YsilciHHRYa

<br>

Page & of B

<br>



44

<br>

45

<br>

46

<br>

47

<br>

Articles liable to Cxport duty are detained at 44

<br>

the outward office of
cxchange and the

<br>

sender is infomedIregarding the
payment of

<br>

duty -

<br>

A. By the office of exchango

<br>

By the custom authorities directly

<br>

G. By the head ofice of the circle concerned

<br>

D. All of the above

<br>

Article except VP addressed as "Postal 45

<br>

Restante" are detained in the PO of delivery

<br>

for the period not exceeding

<br>

A. Seven days

<br>

B. Three month

<br>

C. One month

<br>

D. Fifteen days

<br>

When an insured foreign parcel is redirected46

<br>

Irom one country to the another then

<br>

A.No additional insurance fee is to be levied

<br>

B. Half of the original insurance fee is to be

<br>

levied for such transmissions

<br>

C. A fresh insurance fee become payable for

<br>

cach such transmission

<br>

D. None of the above

<br>

Which of the following is not a DoP Track 47

<br>

under IT 2.0 project?

<br>

(1)

<br>

(ii)

<br>

(ii)

<br>

(iv)

<br>

Rural hardware Devices

<br>

Point of Sale

<br>

Field Network and Postal

<br>

hardware

<br>

Accounting and Back Ofice

<br>

Management

<br>

A. (i)& (ii)

<br>

B.() only

<br>

C.(1), (ii) & (iv)

<br>

D.(1), (1), (ii) & (iv)

<br>

fafty

<br>

A.fafg pyfcty arI

<br>

C. yoHI

<br>

B. AGT )

<br>

C. (0, (i) 3iN (v)

<br>

D. 0.(0, (i) 3T (iv)

<br>

Page 9 of B

<br>



48

<br>

49

<br>

50

<br>

What arc the 2 pillars on wihich
IT 2.0|48

<br>

projectrides?

<br>

A. Blockchain
Technology

and

<br>

Devclopment

<br>

B.DataAnalytics
andAutomation

<br>

C. User

<br>

Transformation

<br>

Experience
and

<br>

D.CyberSecurityandDataPrivacy

<br>

UnderIT2.0projcct,cxpandNOC7

<br>

A. Network Operation Centrc

<br>

B. NetworkOptimization
Centre

<br>

C. NetworkOperations Coordinator

<br>

D. Network OversightCommittcc

<br>

loT

<br>

Digital

<br>

Under It 2.0 Project, expand UI, AI, MI?

<br>

A. User Interfacc, Accounting Interface,

<br>

Management Interface

<br>

B. Unified Interface, Artificial Intelligence,

<br>

Mobile Interface

<br>

C. User Interaction, Advanced Integration,

<br>

Modular Integration

<br>

D. Universal Interfacc, Automatcd Interface,

<br>

Modular Interface

<br>

49

<br>

50

<br>

D. ea fleor afaf

<br>

IT 2.0fruy

<br>

sarta, UI, A, MI IfdTai

<br>

A. SuTESaf , tar ter, vác

<br>

D.

<br>
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54

<br>

51

<br>

53

<br>

55

<br>

52

<br>

A can do a piecc of work in 4 hours; B and 51

<br>

ogcther can do it in 3 bours, while A and

<br>

togetlher can do it in 2 hours. How long

<br>

will B alone take to do it?

<br>

A. 8 hours

<br>

B. 10hours otc -

<br>

C. 12 hours

<br>

D, 24 hours

<br>

A. 3.6

<br>

B7.2

<br>

C. 8.4

<br>

n person crosses a 600 m long street in 5 52

<br>

minutes, What is his speed in km per hour?

<br>

D. 10

<br>

A/220 km

<br>

B. 224 km

<br>

C. 230 km

<br>

A man completes a journey in 10 hours. He 53

<br>

travels first half of the joumey at the rate of

<br>

21 km/hr and second half at the rate of 24

<br>

km/hr. Find the total journey in km.

<br>

D. 234 km

<br>

B+c+Atc

<br>

A. 16 bananas

<br>

B. 24 bananas

<br>

AsC

<br>

Cost off 8 dozen bananas is Rs. 180. How 54

<br>

many bananas can be purchased for Rs. 30?

<br>

C. 14 bananas

<br>

D. 22 bananas

<br>

B. 16

<br>

PART- B/ T- B

<br>

Atc+ß

<br>

C. 216

<br>

p960

<br>

96 -1o

<br>

-3D

<br>

A machine can copy six pages in 9 seconds.

<br>

How many pages can it copy in 24 minutes?

<br>

A. 144

<br>

55

<br>

B. 10

<br>

C. 12

<br>

A:3.6

<br>

B. 7.2

<br>

C.8.4

<br>

D. 10

<br>

A Y6 H 4 xHoI : B 3/T C

<br>

A 220 fa

<br>

B. 224 fo

<br>

C230 f+f

<br>

D.24 t

<br>

D. 234 f

<br>

|A 16

<br>

C14

<br>

8 zuf Ha 180 FUà ŽI30 Fq

<br>

B. 24

<br>

A 144

<br>

B. 16

<br>

D. 22

<br>

C216

<br>

D.960

<br>

P48 +2c :+1

<br>

Bt8+2c =

<br>
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56

<br>

57

<br>

58

<br>

59

<br>

60

<br>

Running at the same constant rate, 6 56

<br>

identical machines can produce a total of

<br>

270 bottles per minute, At this rate, how

<br>

many bottles could 10 such machines

<br>

produce in 4 minutes?

<br>

A. 648

<br>

BX800

<br>

C. 2000

<br>

D. 2320

<br>

Which of the following options is 'relatèd'to 57

<br>

the third term in the given series in the same

<br>

way as the'second term is related to the first?

<br>

Angioplasty : Heart :: Dialysis :?

<br>

A. Kidney

<br>

B. Lung

<br>

C. Brain

<br>

D. Rib-cage

<br>

Which of the following options is related to 58

<br>

the third term in the given series in the same

<br>

way as the second term is related to the first?

<br>

France:Euro :: America:?

<br>

A. Ringgit

<br>

B. Yen

<br>

C. Kyat

<br>

D. Dollar

<br>

Pick the odd one out.

<br>

A. Ladakh

<br>

B. Itanagar

<br>

C. Dehradun

<br>

D.Gangtok

<br>

?

<br>

NZK, MBH, LDE, KFB, ?

<br>

In the following question, various terms of a 60

<br>

letter series are given with one term missing

<br>

as shown by (?). Choose the missing term

<br>

out of the given alternative.

<br>

A.JHZ

<br>

B. JHY

<br>

C.ÁIY

<br>

D. JHX

<br>

59

<br>

fre HT 270

<br>

A. 648

<br>

B. 1800

<br>

C. 2000

<br>

D, 2320

<br>

üfolÌ:¿4:SIYiT:?

<br>

A. fos

<br>

B. p

<br>

C.HRp

<br>

D. Rg

<br>

Vt ?

<br>

A. ffMd

<br>

B. T

<br>

D. SGR

<br>

A. GIEE

<br>

B.SR

<br>

C. EUIQT

<br>

D. TeO

<br>

NZK, MBH, LDE, KFB, ?

<br>

A. JHZ

<br>

B. JHY

<br>

C. HIY

<br>

D. JHX

<br>
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61

<br>

62

<br>

63

<br>

64

<br>

65

<br>

In a certain code languagc,
SUIT is written

<br>

as SITU, and CUTE is
written as CTEU.

<br>

How will WASH be written in the same

<br>

language?

<br>

A. WHAS

<br>

B. WSHA

<br>

C. WSAH

<br>

D. HAWS

<br>

that code?

<br>

ANCEOSMC

<br>

B. NCOCSMC

<br>

C. NCOESMH

<br>

Ifin a certain language CHHAPAK is coded 62

<br>

as DJKEUGR, how is MALANGA coded in

<br>

D. NCCMSC

<br>

A. Aunt

<br>

B. Sister-in-law

<br>

C. Mother

<br>

D. Mother-in-law

<br>

Lntroducing Raveena. Nitish said, "She is the63

<br>

maternal grandmother. of my sister's son."

<br>

How is Raveena related to Nitish?

<br>

A. 10 km

<br>

B.S.km

<br>

C4 km

<br>

D. 9 km

<br>

SUIT

<br>

SITU

<br>

Rehana drives 6 km west from her home and

<br>

turns left and drives 3 km and again turms

<br>

left and drives 10 km to reach her office.

<br>

What is the shortest distance between her

<br>

home and office?

<br>

CrG
U

<br>

A. 0

<br>

waSH

<br>

aSHA

<br>

5348971653298735

<br>

B. 1

<br>

bJKE

<br>

C. 2

<br>

D8

<br>

6

<br>

How many even numbers arc there in the 6S

<br>

following series of numbers, cach of which

<br>

is preceded by an odd number, but not

<br>

followed by an even number?

<br>

64

<br>

WASH fh uoR fRETGIqT?

<br>

A.WHAS

<br>

B. WSHA

<br>

C. WSAH

<br>

D. HAWS

<br>

A.NCEOSMC

<br>

B. NCOCSMC

<br>

C. NCOESMH

<br>

KEUGR fraT GGIÂI3Í 4SI MALANGA

<br>

D. NCOCMSC

<br>

B. T2f

<br>

D. HH

<br>

A. 10 frf

<br>

B.S fft

<br>

C.4 ff

<br>

D.9 farft

<br>

5348971653298735

<br>

A.0

<br>

B. 1

<br>

C.2

<br>

4HrT

<br>

D. 3

<br>

CHHAPAK

<br>
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66

<br>

67

<br>

68

<br>

While going on a scooter, you find someone
66

<br>

hasbeenhurtby yourvehicle, youwould-

<br>

A. Try to

<br>

immediately

<br>

B, Stopyourvehicleand

<br>

C. Take him to doctor and arange for his

<br>

medical aid

<br>

D.Pay compensatio for the injury and in

<br>

this way try to dispose off the matter

<br>

Select a suitable figure from the four 67

<br>

alternatives that would complete the figure

<br>

matrix.

<br>

(1) (2) (3) (4)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

run away
from the spot

<br>

(1)

<br>

Select a suitable figure from the four68

<br>

alternatives that would complete the figure

<br>

matrix.

<br>

A. 1

<br>

B.2

<br>

C. 3

<br>

say 'I am sorry'

<br>

D.4

<br>

(2) (3) (4)

<br>

B, 3/4T aIGA

<br>

(1)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

(1) (2)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

(2)

<br>

D. 4

<br>

(3). (4)

<br>

(3) (4)

<br>
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69

<br>

70

<br>

71

<br>

72

<br>

Select a suitable figure from the four 69

<br>

alternatives that would complete the figure

<br>

matrix.

<br>

(1) (2) (3) (4)

<br>

A. 1

<br>

B. 2

<br>

C. 3

<br>

D. 4

<br>

Select the alternative in which the specified 70

<br>

components of the key figure (X) are found.

<br>

OA

<br>

(X)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

Find out how will the key figure (X) look 71

<br>

like after rotation.

<br>

(X)

<br>

A, 1

<br>

B. 2

<br>

C.3

<br>

D.4

<br>

(1) (2) (3) (4)

<br>

(X)

<br>

()

<br>

(1) (2) (3) (4)

<br>

(2)

<br>

(3)

<br>

(1)

<br>

(Y

<br>

A.1

<br>

B. 2

<br>

C.3

<br>

D, 4

<br>

OA

<br>

(X)

<br>

A.1

<br>

B.2

<br>

C.3

<br>

D. 4

<br>

(X

<br>

A.1

<br>

B. 2

<br>

C3

<br>

D.4

<br>

(2) (3) (4)

<br>

In the following question, which answerl 712Aufaf HH À, H TR Ipfa, 1pfa

<br>

figure will complete the pattera in the figure

<br>

(X)?

<br>

/oA

<br>

(1)

<br>

(1) (2) (3) (4)

<br>

(1)

<br>

o

<br>

(2)

<br>

(2 (3) (4)

<br>

(3)

<br>

(4)

<br>
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73

<br>

74

<br>

75

<br>

A. 1

<br>

B.2

<br>

C. 3

<br>

D, 4

<br>

In the following question, choosethccorrect |73

<br>

miror image of the given Fig.(X) from

<br>

amongst the four alternatives (1), (2), (3) and

<br>

(4).

<br>

(X)

<br>

A, 1

<br>

B. 2

<br>

C.3

<br>

D.4

<br>

(X)

<br>

In the following question, you are given a 74

<br>

figure (X) followed by four alternative

<br>

figures (1), (2), (3) and (4) such that figure

<br>

(X) is embedded in one of them. Trace out

<br>

the altermative figure which contains fig. (X)

<br>

as its part.

<br>

A. 1

<br>

B.2

<br>

C.3

<br>

D. 4

<br>

(X)

<br>

A. 1

<br>

B. 2

<br>

C. 3

<br>

(1)

<br>

D. 4

<br>

(1)

<br>

the following problem,

<br>

square 75

<br>

transparent sheet (X)with a patterm is given.

<br>

Figure out from amongst the four

<br>

alternatives as to how the pattern would

<br>

appear when the transparent sheet is folded

<br>

at the dotted line.

<br>

(2) (3) (4)

<br>

(1)

<br>

(2)

<br>

(3)

<br>

(2)

<br>

·(4)

<br>

(3)

<br>

(4)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

(X)

<br>

A. 1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

()

<br>

A. 1

<br>

B. 2

<br>

C. 3

<br>

D, 4

<br>

()

<br>

A.1

<br>

B. 2

<br>

C.3

<br>

D. 4

<br>

(1)

<br>

(1)

<br>

(2)

<br>

faoe HIId4 (1), (2), (3) R (4) $H

<br>

(1) (2)

<br>

(1),(2),(3) r (4)

<br>

(2)

<br>

(3)

<br>

(3)

<br>

(4)

<br>

(3)

<br>

(4)

<br>

(4)

<br>
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76

<br>

77

<br>

78

<br>

79

<br>

80

<br>

Find thc number of triangles in the given

<br>

figure.

<br>

A. 8

<br>

B, 10

<br>

C. 12

<br>

D, 14

<br>

Between which two mountain ranges is the 77

<br>

Valley ofKashmir situated?

<br>

A. Ladakh & Zanskar

<br>

B. Great Himalayas & Pir Panjal

<br>

C. Great Himalayas & Zanskar

<br>

D. Karakoram & Ladakh

<br>

Majuli, the largest river island in the world, 78

<br>

is located in:

<br>

A. Bihar

<br>

B. Assam

<br>

C. Uttar Pradesh

<br>

D.West Bengal

<br>

Which article of the Constitution empowers79

<br>

the President to impose President's Rule in a

<br>

state?

<br>

A. Article 352

<br>

B. Article 356

<br>

C. Article 360

<br>

D. Article 365

<br>

76

<br>

Which Constitutional body is responsiblefor 80

<br>

revenue distribution between Centre and

<br>

States?

<br>

A.NITI Aayog

<br>

B.Election Commission

<br>

C.Finance Commission

<br>

D.Planning Commission

<br>

A.8

<br>

B, 10

<br>

C. 12

<br>

D.14

<br>

D. RIORH3RCIaE

<br>

A fER

<br>

B. 3HH

<br>

A. 3g34352

<br>

B. q3 356

<br>

C. 3q3G360

<br>

D. q34365

<br>

B. 1q 3TT

<br>
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81

<br>

82

<br>

83

<br>

84

<br>

85

<br>

Which gas
isusedfor theartificial

ripening|
81

<br>

offruits?

<br>

A.Oxygen

<br>

B.Cartbon
monoxide

<br>

C.Ethylene

<br>

D.Nitrogen

<br>

In which year was the Sukanya Samriddhi
82

<br>

Yojanalaunched?

<br>

A. 2012

<br>

B. 201S

<br>

C. 2017

<br>

D. 2020

<br>

The Natyashastra', an ancient treatise on

<br>

performing arts, was writtenby:

<br>

A. Bharata Muni

<br>

B. Patanjali

<br>

C. Panini

<br>

D. Tulsidas

<br>

Which of the following revolutionary leader 84

<br>

was associated with the Hindustan Socialist

<br>

Republican Association (HSRA)?

<br>

A. Lala Lajpat Rai

<br>

B. Sardar Patel

<br>

C. Bhagat Singh

<br>

D. Rajendra Prasad

<br>

A customer is elderly and struggling to 85

<br>

understand a form. You're busy with other

<br>

work. What should you do?

<br>

A. Briefly explain the form, then direct them

<br>

to another staff member to save time

<br>

83

<br>

B. Apologize, provide them with written

<br>

instructions and ask them to return later

<br>

C. Pause your work temporarily and assist

<br>

the customer with patience and clarity

<br>

D. Prioritize your work and ask a junior

<br>

colleague to help, even if they're

<br>

inexperienced

<br>

A. 3ÍtT

<br>

B. Hr teGHIS

<br>

D. ¬ISgluT

<br>

A. 2012

<br>

B. 2015

<br>

C. 2017

<br>

D. 2020

<br>

A. 4RA HH

<br>

B. 4dGfT

<br>

C. qrforf

<br>

D. Jrl<H

<br>

A. GICI GIGMT4

<br>

B. HRGI YCg

<br>

D. TISK 9HIG

<br>
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86

<br>

87

<br>

88

<br>

89

<br>

of a customer. Youshould:

<br>

90

<br>

A friend asks for
confidential

account details 86

<br>

A. Share it if your friend
promises

sccrccy

<br>

B. Share only non-sensitive
infornation

<br>

C. Delay giving it until yourshi ends

<br>

D. Refusc and cxplain it'sagainst policy

<br>

91

<br>

Evaluate:

<br>

12[6- {42( (3
– 2) +1)}]

<br>

A. 72

<br>

B. 60

<br>

C. 48

<br>

D36

<br>

Evaluate:

<br>

A. 2

<br>

B´1.5

<br>

C.1

<br>

D. 2.5

<br>

B. 10%

<br>

C60%

<br>

1.14 expressed as a percent of 1.9 is:

<br>

A. 6%

<br>

D.90%

<br>

A. 8%

<br>

B. 15%

<br>

C. 27%

<br>

D. 35%

<br>

i(6-9)

<br>

In an examination 80% candidates passed in S90

<br>

English and 5% candidates passed in

<br>

Mathernaics. If 73% candidates passed in

<br>

both these subjects, then what percent of

<br>

candidates failed in both the subjects?

<br>

-)

<br>

A. 33%

<br>

B.25%

<br>

C. 20%

<br>

D. 16%

<br>

87

<br>

88

<br>

89

<br>

C. 3u-t fRIE

<br>

If A's salary is 25% more than B's salary, 91

<br>

then B's salary is how much lower than A's

<br>

salary?

<br>

12(6- (4-2 ( (3 -2) +1)})

<br>

A. 72

<br>

B. 60

<br>

C.48

<br>

D. 36

<br>

A.2

<br>

B. 1.5

<br>

C.1

<br>

D. 2.5

<br>

1.9 ufRIA RUH 1.14$:

<br>

A. 6%

<br>

B. 10%

<br>

C. 60%

<br>

D. 90%

<br>

y# qier 80% 3qf siit r 85%

<br>

A. 8%

<br>

B. 15%

<br>

C.27%

<br>

D. 35%

<br>

A. 33%

<br>

B. 25%

<br>

C. 20%

<br>

D. 16%

<br>
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93

<br>

94

<br>

95

<br>

96

<br>

97

<br>

selling a bicycle
for Rs. 2850, a 92

<br>

shopkeeper
gains 14%. If the profit is

<br>

reduced to 8%,thenthe sellingpricewillbe:

<br>

A.. Rs.2600

<br>

BY

<br>

B. Rs. 2700

<br>

C. Rs. 2800

<br>

D. Rs. 3000

<br>

Kapil sells

<br>

mobile to Sachin at a gain of 93

<br>

15% ànd Sachin again sells it to Rohit at a

<br>

profitof 12%. If Rohit pays Rs. 322, what is

<br>

the cost price of the mobile for Kapil?

<br>

A. Rs. 350

<br>

B. Rs. 450

<br>

C. Rs. 250

<br>

D. Rs, 325

<br>

A watch costing Rs. 120 was sold at a loss of 94

<br>

15%. At what price was it sold?

<br>

A. Rs. 112

<br>

B. Rs. 102

<br>

C. Rs. 135

<br>

D. Rs. 110

<br>

A principal amount of Rs. 1200 grows to Rs.95

<br>

1440 in 2 years. Calculate the rate of

<br>

interest.

<br>

AdO%

<br>

B. 12%

<br>

C. 15%

<br>

D. 8%

<br>

What is the difference bctween the simple 96

<br>

interest on a principal of Rs. 500 being

<br>

calculatcd at 5% per annum for 3 years and

<br>

4% per aninum for 4 ycars?

<br>

AYRs. 5

<br>

B.Rs. 10

<br>

C. Rs. 20

<br>

D, Rs, 40

<br>

A sum becomes 4 times at simple interest in 97

<br>

10 years. What is the rate of interest?

<br>

A. 10%

<br>

B. 20%

<br>

C. 30%

<br>

D40%

<br>

A. 2600 HY

<br>

B. 2700

<br>

C. 2800 U

<br>

D. 3000Fy

<br>

A. 350 Fq

<br>

B, 450F

<br>

C. 250qy

<br>

D. 325 5y

<br>

A. 112

<br>

B. 102

<br>

C.135

<br>

D. R110

<br>

1200 q HgT RiT 2 q9 Go 1440

<br>

A. 10%

<br>

B. 12%

<br>

C. 15%

<br>

D. 8%

<br>

A. 5 F4

<br>

10

<br>

C. 20 y

<br>

D.40 F4

<br>

A. 10%

<br>

B. 20%

<br>

C. 30%

<br>

D. 40%

<br>
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98

<br>

99

<br>

ne tirst 10 overs of a cricket game, the 98

<br>

Tun rate was only 3.2. What should be the

<br>

ud rate in the remaining 40 overs to reach

<br>

the target of 282 runs?

<br>

A. 6.25

<br>

B. 6.5

<br>

C. 6.75

<br>

D. 7

<br>

A grocer has a sale of Rs. 6435, Rs. 6927, |99

<br>

Rs. 6855, Rs. 7230 and Rs. 6562 for 5

<br>

Consecutive months, How much sale must he

<br>

have in the sixth month so that he gets an

<br>

average sale of Rs. 6500?

<br>

A. Rs. 4991

<br>

B. Rs.5991

<br>

C. Rs. 6001

<br>

D.Rs. 6991

<br>

310

<br>

days. If they work on it together for 4 days,

<br>

A. 1/4

<br>

then the fraction of the work that is left is:

<br>

B. 1/10

<br>

C. 7/15

<br>

D.8/15

<br>

4922

<br>

A &,

<br>

20

<br>

40 at ieII IfE?

<br>

A. 6.25

<br>

100 A can do a work in 15 days and B in 20 100Ay# H oI 15 fai r B 20 fi

<br>

3.9

<br>

B. 6.5

<br>

C. 6.75

<br>

D.7

<br>

6435 F42, 6927 Fuà, 6855 FU, 7230 F44

<br>

A. 4991F4

<br>

B. 5991 yy

<br>

C'60014t

<br>

D. 6991 Fq

<br>

-A 1/4 nsyy

<br>

B. 1/10

<br>

C.7/15

<br>

D. 8/15

<br>

39Y

<br>

1s,1

<br>
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